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Subtraction Take Away (Page 61-65)

Left (S

Question 1:
Subtract the following:

(a)

4 Take away | 2 Left

Answer:

@ @

la|  Take away | - Left | 2

(b)
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Take away Left

Answer:

4 Take away | 3 Left| 1

(o)

Take Away Left
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Answer:

Question 2:
Subtract the following:

(a)

Answer:
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(b)

Answer:

(o)
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Answer:

LS} - =
(@)
a j e :&. aﬁé’g&
j ”Z‘ééé’
m - = -
Answer:




‘VW’W’.edllgl'OOSS.C()]]l

NCERT Solutions Class 1 Maths - Unit 4
Subtraction

EDUGROSS

A OF A




WWW.Cdllgl'DDSS.CD]]]

EDUGROSS NCERT Solutions Class 1 Maths - Unit 4
WISDOMISING KNOWLEDGE SUbtraCtion

=]
I

b
]

Question 3:
Subtract the following:

(a)
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(b)

Answer:

(o)
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Answer:

sl — 2] = [
5
RRRKO 511 =
1
Question 4:
Subtract the following;
(a)
‘ 6
_ 2

RROCO00 " "

Answer:
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(b)

RV,
0000

Answer:

e8Re’ ., ..
0Coe -

(o)
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X X X X
Answer:

REROO
olele

Answer:

XRXXO O
00

Subtract and Match (Page 66)
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4 - 4
4 - 4
8 -3
8 =3

Subtraction

I
G| W @
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Question 1:
Subtract and match the following:

4 - 2 3 9 - 5
7 -2 ‘_1 8 -2
9 -1 é 7 - 4
5 -1 5 8 -0
6 -3 6 5-3
7 -1 8. 8 -3
5-0 0 T

Answer:
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Subtract (Page 67)

Question 1:
Subtract the following:
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5§ - 2 = 6 - 5 =
7-7=7

8—4=77

3-1=77

Answer:

4 - 2 =[9 4 - 0 =4
5—2=_i‘ 6-—5=£
r -7 -l

o -+ -4

s -1 -

Question 2:
Subtract the following:
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2 9 3
=0 -7 -0
2
8 6 4
=8 -4 = 2
Answer:
2 9 3
-0 - 7 -0
2 2 3
8 6 4
-8 —4 « D
0 2 2

Write the missing numbers (Page 68)

Question 1:
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Answer:
8| -
5 | -
3| -
9 -

&b

o
N
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- 2
|3
- 2
- 2
5 -2
8| -3
12| -2

Subtraction
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